n 2"-x

8 n =8 25(00011001) 28=256
256- 25=231(11100111) 00011001 11100110 1

N

3. -1
-128 127 16 - 32768 32767
-27147483648 2147483647
-1

add, sub ADC, SBB, INC, DEC, NEG

unsi gned ADD

ZF( ) SK( ) OF( ) CF
SF OF

CF

ADC Add with carry ADD

64
SUB SuUB
CF SBB(subtract with

bor r ow) sub CF -1
| NC DEC

inc dst # dst dst +1
dec dst # dst dst-1
I NC(i ncrenent) dst 1 DEC

neg dst # dst - dst

NEG

mul , div

I MUL | MUL
imul src,dst # dst = dst * src

add sub
imul srcl,src2,dst # dst = srcl * srcl

dst

imul src # edx:eax = eax * src
eax , Src



edx eax
mul i mu
mul src # edx:eax = eax * src
i mul
idiv src # eax = (edx: eax) / src , edx =
edx eax src
eax edx div
eax edx: eax cltd
nmov srcl, %eax # eax
cltd # eax -> edx: eax
idiv src2 # src2 eax edx
eax, ebx, ecx, edx
ax, bx, cx, dx ah, bh, ch, dh
al, bl,cl,dl edi esi di, si
x86
nmov srcl,%ax # srcl ax
add srcl, %l # src a
src dst
I ( ) w( ) b(
)
nmovb $1, (%di)
%di 1 i mul idiv
imull, idivl eax edx imulw, idivw
ax  dx i mul b, idivb al ah
novs  Nnovz
novs sign
ext end novz src
dst
nmovsbl (%), %eax # 32 eax
movzw  (%i ), Y%edx # edx
<< >> SHL(shift | ogical | eft)
shl  src,dst # dst = dst << src
src cl
SHR(Shift |ogical right)

SAR(shift arithnmetic right)
shr src,dst # dst = dst >> src
sar src,dst # dst = dst >> src
SAR




